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£ P D w RTK-GPS
77 2004 12 8
g po T fi 000 O
7 O 00O
O O O O
O O O O
« fien « fie n 000 O
i L1 L2 i L1 L2
¢ D 2 4D 9 1
15
5
« fien
2.065 10:04:12
3-3246-2 10:04:22 °
2.065 10:09:47
3-3246-2 10:09'57 6
2.065 10:15:23
3-3250 10:15:33 7
2.065 10:16:43
3-3250 10:16.53 7
2.065 10:28:33
3-3251 10:28:43 5
2.065 10:44:46
3-3261 10:44'56 6
2.065 11:03:03
3-3266-1 11.03.13 °
2.065 11:04:53
3-3266-2 11.05.03 5
n 8 | 8 # ™9
n | 8 3sT | uTCcL  AA>
nefien |3 LA
n?E’o?ﬁ|8 — — % — 1/8|If =I$_LTMeQ
no—- % L v Jswe."fid 1= vo L ens |
- - A-” LA.HQ 8 z L ™9 /o o8
- L Aqise
n # = — AL VA |If AL T 8 <
o= Ao o2 £ Nef - o L A
n <|®& VRS #| ds FKP  # | L Ao
0 %8 < # | - - % oq 1 < %N ©




£ pJ: D3« RTK-GPS

7 7 2004 12 8
shi »vs 0000
=V
=V
.y L1 L2
z D) O 00O
0 00O
9
-44476.178 m 35°35" 56.29981" X -3956873.07 m
-16644.353 m 139°38' 58.70033" Y 3361656.185 m
14.855 m 51.493 m Z 3692132.267 m
36.638 m
51.493 m
m m m
G = 195.352 | = -44551.436 = 48.296
3-3246-2 Fix | GY= 294.172 |Y= -16995.128 = 36.654
GZ= -63.599 |[S= 358.757 = 11.642
G = 195.364 | = -44551.435 = 48.277
3-3246-2 Fix | GY= 294.160 [Y= -16995.127 = 36.654
GZ= -63.609 [S= 358.756 = 11.623
G = 21.295| = -44683.511 = 47.642
3-3250 Fix | GY= 206.936 |Y= -16816.215 = 36.639
GZ= -171.108 [s= 269.302 = 11.003
G = 21.307 | = -44683.500 = 47.650
3-3250 Fix | GY= 206.949 |Y= -16816.233 = 36.639
GZ= -171.095 [s= 269.305 = 11.011
" leRus | Wk MY L e
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$ P J — .
0o0o0oO0 A A 0.020 m AH= 0.030 m
m m m
m
X 44551.436 | -44551.435] -0.001 | -44551.435
3-3246-2 Y -168995.128 | -16995.127 | -0.001 | -16995.127
H 1.642 11.623 | 0.019 11.623
X -446833511 | -44683.500| -0.011| -44683.500
3-3250 Y -16816.245| -16816.233 | 0.018 | -16816.233
H 11.00 11.011 | -0.008 11.011
0o0o0oO0 A A 0.020 m
m m m
m
X -44551.436 \_-44551.435| -0.001 | -44551.436
3-3246-2 Y -16995.128 \@95.127 -0.001 | -16995.128
X -44683.511 | -44688.500| -0.011 | -44683.511
3-3250 Y -16816.215| -16816.233 | 0.018 | -16816.215
0o0o0oO0 A A 0.020 m
m m m
m
X -44551.436 | -44551.435] -0.001 | -44551.436
3-3246-2 Y -16995.128 | -16995.127 | -0.001 | -16995.128
X -44683.511 | -44683.500 | -0.011| -44683.506
3-3250 Y -16816.215| -16816.233 | 0.018 | -16816.224
novel — | eaNe AEE AUL < o8 XeY 8H —
2L <pq>
n - %p) — | e #es 4 <=8 ey | A e
n | #es & < o8 wopy 4 INE
n | e — 4L A e
n —eLs — | ® < -8 %ey |
so= A
0%8 VRS —e L Ak ty] - 8 < o]
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+ +

0.6123
1.7437

IN

m
m

1.0000019821
1.0000366998

+ 0° 0 5.27277"
- 0° 0 6.45205"
+ 0.050 m
(m) (m)
301| X=  -44551.442 = 11.693
301] Y= -16995.140
302| X=  -44851.813 = 10.857
302] Y= -16580.518
303| X=  -44320.097 = 20.465
303|] Y= -16322.661
304| X=  -44129.854 = 22.027
304| Y= -16845.632
1| X=  -44475.492 = 9.838
1| Y= -16645.873
2| X=  -44483.435 = 9.730
2| Y= -16649.361
3| X=  -44480.438 = 9.732
3] Y= -16649.736
4] X=  -44488.683 = 9.606
4] Y= -16643.535
5 X=  -44489.121 = 9.677
5] Y= -16639.670
6| X=  -44480.698 = 9.868
6] Y= -16635.308
7| X=  -44480.590 = 9.586
7] Y= -16635.206
8| X=  -44452.938 = 9.899
8| Y= -16690.283
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301

302

303

304

301

302

303

304

0.6123
1.7437

+ +

m
m

1.0000019821
1.0000366998

+

X(m)
Y(m)

-44551.442
-16995.126

-44851.812
-16580.503

-44320.116
-16322.676

-44129.845
-16845.625

-44475.495
-16645.869

-44483.438
-16649.357

-44480.441
16649.732

-44488.687
-16643.531

-44489.687
-16639.666

-44480.702
-16635.304

-44480.594
-16635.202

-44452.940
-16690.278

0° 0
0° 0

5.27277"
6.45205"

X(m)
Y(m)

-44551.442
-16995.140

-44851.813
-16580.518

-44320.097
-16322.661

-44129.854
-16845.632
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X(m)
Y(m)

-44551.450
-16995.145

-44851.807
-16580.514

-44320.102
-16322.664

-44129.847
-16845.628

-44475.492
16645.873

-44483.435
-16649.361

-44480.438
-16649.736

-44488.683
-16643.535

-44489.121
-16639.670

-44480.698
-16635.308

-44480.590
-16635.206

-44452.938
-16690.283

X(m)
Y(m)

0.008
0.005

-0.006
-0.004

0.005
0.003

-0.007
-0.004

S(m)

0.009

0.007

0.006

0.008



301

302

303

304

301

302

303

304

(m)

11.643

(m)
10.816
20.423
21.970

9.788
9.680
9.682
9.556
9.627
9.818

9.536

(m)

11.693

(m)
10.857
20.465

22.027
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(m)

0.050

(m)

9.838
9.730
9.732
9.606
9.677
9.868

9.586



, spo i
DX DY Dz DX DY Dz GN GE GU

NOO091 NO092 -24.495 -24.490 -0.007 0.020 076L

-6.447 -6.452 -0.009 0.030
NO097 NOO096 34.672 34.673 0.013 0.020 076K

-18.342 -18.349 0.013 0.030
1021 1011 12.672 12.663 0.008 0.020 077H
NO102 NO101 47.437 47.447 0.001 0.020 076N

-32.370 -32.371 -0.010 0.030
1451 1441 41.484 41.471 0.010 0.020 066A
NO145 NO144 26.412 26.422 -0.002 0.020 062B

18.640 18.639 -0.013 0.030

S J— J—
000 loooo
9
(m) (m)
305 X1 | -44435.594 -44435.594
305 o | 44475 495 39.901 42475 490 39.898 | 0.003 0.005
Y1l | -16359.861 -16359.861
Y> | -16645.869 286.008 16645 873 286.012 | -0.004 | 288.781
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